BRIDGE EDUCATION

Complete Practice Work BooK for
Grammar, Spelling, Vocabulary and
Reading Comprehension with
Over 600 Questions

1@ ¢ @
(aza | wa [(a4)) [ mEe
Czraw. ((@ad) | ane ) [ ehze:

2ol el Fna?l |

29 9909 D




Table of Contents

KOREAN ALPHABET (3t)............... 3
Exercise Questions
Answery Key.

=1 =k
Writing Questions............... 14
Multiple Questions 1-100............... 18
Answer Key.............. 29

SUBJECT / OBJECT / PARTICLES (5-0] / ¥-# o] / 24}

PREDICATE (4] %0])
Writing Questions...............
Multiple Questions 101-180.
Answer Key............... 42

Writing Questions..
Multiple Questions 181 — 23
Answer Key............... 51
IMITATING WORDS (2]73¢] / ] e o]) ............... 52
Writing Questions............... 53
Multiple Questions 231-270............... 56
Answer Key.............. 61
ADJECTIVES (3 EAb)............... 62
Writing Questions............... 63
Multiple Questions 271-320............... 66
Answer Key............... 73
HONORIFICS (39 %/ Eel ). 74
Writing Questions............... 78
Multiple Questions 321-400............... 79
Answer Key............... 84
PAST /PRESENT / FUTURE (A 7+2] 3&)............ 85
Writing Questions............... 87
Multiple Questions 371-400............... 89
Answer Key............... 93
VOCABULARY (5] &) 94
Answer Key............... 98
SPELLING (% #+%) Multiple Questions 401-500............... 100
Answer Key............... 109

READING COMPREHENSION (%3]
Multiple Questions 501-600............... 110

Hdsokkkahook converter DEMO Watermarks### %



CONSONANTS (Z}<)

;;' [g] |gi-yeok
‘L. | [n] |ni-un
Zt [d] |di-gut

ri-ul

)
| [ll
—
=
o5

[m] |mi-um

bi-up

e e
|
;
=

>

[s] |si-ot

b silent | i-ung
Z | |jiut

@
“Z | (ch | chi-ut
:q k] | ki-uk
Bl 1 |t
=

pi-up

Yoy
= -
( l

®

)

=2y

hi-ut

a®
Ca

*axxxxebook converter DEMO Watermarks*



VOWELS (2&)

Flelt
;* [yal |- F
—I (o] |
2 | yel |
1 [o] | -
AL | [yo]

‘ip [l =
TF | el | T
—— | [u]

|@ [l |

Fdkkkkahook converter DEMO Watermarks* s+



)
The following are not in the correct order.

Please write down the corresponding numbers in correct alphabetical order.

AR OE RN GO R R T G TR
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What should they sound like?

Please write down the correct pronunciation in English.

909000V

QUOGGU0

GA, HA, MA, PA, NA, AH, KA
DA, SA, RA, TA, BA, JA, CHA
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The following words are incomplete.

Insert correct consonants, vowels, and batchim.

Hak Gyo : School
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Gang Ah Ji : Puppy

o bR

Nun Sa Ram : Snowman

\
| |

- HE

Hal Ah Beo Ji : Grandpa
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Baek Hwa Jeom : Department Store

H & { m

n
-

Son Mok Shi Gye : Wrist Watch

A C

1 =
Jeon Hwa Beon Ho : Phone Number

JETrRs
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Match the following puzzle pieces to complete a word.

kkot : flower  chaek : book kong : bean ot : clothes

L1 O L L]

gom : bear yong : dragon son : hand choom : dance
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Ansewr Keys

Hak Gyo : School

B

Bu Mo Nim : Parents

Baek Hwa Jeom : Department Store
R
Son Mok Shi Gye : Wrist Watch
& A
Jeon Hwa Beon Ho : Phone Number

M o8 w3

11

Gang Ah Ji : Puppy

d b A o

Nun Sa Ram : Snowman
L =
L Al' |:||-

Hal Ah Beo Ji: Grandpa

g o # A

kkot : flower  chaek : book kong : bean ot : clothes

gom :bear  yong:dragon son:hand  choom :dance

Fdkkkkahook converter DEMO Watermarks* s+



12

The subject (3=01) of a sentence is the o o o N
person, place, thing, or idea that is doing o= | 2 Ch
or being something.

&0l 2 ofeect

Without =01, it would be very difficult
to understand the meaning of a sentence. %AI o] OQIC},

Circle the parts which you think are the 2tXt2| Hf2H o] LTt
Z201 of the sentences on the right. \ © Y

Subject marking particles ‘O|” and ‘?}” are added to the end of a subject
to designate it as the subject of the sentence. ‘O|” is used for words ending
in a consonant (i.e., with &%), while ‘Z} is used for words ending in a
vowel (i.e., without €F%E!). Try filling in the boxes.

e Y
QX ESUCH Al aore.

AL J

e N
ZOHAl  AGTh LHH|  LHORQITH.

LS =

g N
S g  goe.

L =
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In a similar fashion, 2 /= serve as a topic marking particle. They are
also added to the end of the subject a sentence, followed by a predicate,
and designate the main idea or topic.

‘2’ is used for words ending in a consonant (i.e., with 2%, while ‘=’
is used for words ending in a vowel (i.e., without £FE!). Try filling in the

boxes.
L X YL AN 2AQe. |
o Au gl SN QaoMe? |

Answer Key

R SAIALICE FIAS TAIL, S QIC TAS T A OINI2? RIS TS, SR olETiAL.

On the other hand, /= serves as an object marking particle. They are
added to the end of a subject to mark the object of the sentence, and . As
the name suggests, they are followed by an action verb.

£ is used for words ending in a consonant (i.e., with %), while ‘S’
is used for words ending in a vowel (i.e., without €E!). Try filling in the
boxes. Try filling in the boxes.

Lx@r gofsizict.  m  gjoje. 1
 EAR orsole. WX &UICH J

Answer Key

FIZS SIOBIZICL MG 018, HIYWS AoiR. B2AB UME. £AFS IHS0I9, BAS HUCk
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Number the following pieces in the correct order to complete a sentence.

| study Korean.

| am going to have (eat) dinner with my parents.

| [] [] [] L]

Cheol Soo comes back from school at 3:00 PM.

[]

22 3A/0]

[]
[]
[
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Connect the correct particles with the subject.

FolA| °
et ° o]

T ([ ]

L=y )
© 7}

e °

A °
N e 2

W 2 °

24 .
o =

AFH .

A=A} @
[ <O,
A o -

HOT—)q o
® =

7}1301— o

Answer Key
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Circle the 5] to make a sentence.

(azd [ =g | Wi | [ 2=

EEEREEIBEIE R

[woﬂ 171;47}1 9
(Am7 | ede) | @w

] St T
L2ce e

Answer Key

w7k, gelzk, 713k, A

Circle the right particle.

o))
)

0
=
Ef et |

1 A= = =0 =L =

v S 7otA]
dia = =R

Answer Key

o7k, vk pukd. Zebde. g, wdlE d8E. Fus
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Find the sentences with particles used incorrectly and write the correct answers underneath them.
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Answer Key
EREE WEGel e, WEI} Rk £FEATY, AXEIE v deh qo) A
ol ojafle. e WAL, DFols AA JE Hurh Ul g
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SUBJECT / OBJECT / PARTICLES
Fol [ =Ao] / 24}

Question 1 - 20. Identify the SUBJECT (5-°]) of the sentences. If there are more than one, choose the one
that have both.

1. ahzo] wt

A& B.E°] C.3s D.o] E¥th

2. w7k ot

A% B.EI7} C.7F Do) E.ojjm

4. 4] o] 2ok,

A3} Bi3A C.ubg D& E&4

5. A7} vl$- A,

A B.ATY C.EA D.EA/ WS- E2A/ Fo

6. ol FobA 7} H ol bl Al

Aol BEo] CAokA Dok / He] E.Ql#y Tt

7. o7} dopst 3 shgtet.

Acdobst Bupi] C.odet D.3zell E.ekgict
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8. Al ol B RAZTE,

o

AZA% BA CAA%/A DAAS /% EolE

9. Al 4k nhgo] Eqlrt

AAY BAQEE C.EW D.EAY Enbgt

10. o3& 5ol w=A gl A L gl

AClFE BagE CMEA DAL ESdFUH

11, A3+ Qoina 447} 983 A5UTh

AAZ BAS C&¥ D.doidd EAZ/ HS

AFAFE B.93 /A4 CwHEal D93/ A5/ BAFY B39

1§

13, 571 485 23 29k

t

(@)

A% BYE A%/ 93 DAST 98 B2

14, W5 FA & 4348 1w o

i

AMI% BEAE/BA CY8/ % DEY EY5E

o

15. Behhe Avh} 5872

AZeEd By C.Yvhyd D@/ 58 Edted/ 547}

16. AbLb2 A7 o] 7ar QlF Y T
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AAREE BARE CAR7E D.Ale] E.Slguth

.h\‘

17. A3k A%l obF E4UTh

ol

AABE BARSE/ A% ol DARE/ obF E&%Uth

_
oo
ke
-1
rlr
e
N
iR
o
a
5
ol

-8k ek,

o

A37] B@®d C.&f D17/ v9d Exv]/ &f

19, S B5E A5 o gk,

20, W = 371E e A sE

ATHER BAE CUHER £2 DA EslEt

Question 21 - 40. Choose the correct OBJECT MARKING PARTICLE /% to complete the sentence.

21. A4 () Herh

A& B.

filo
s

22. A o] F( ) oM Q7

A% BE

23.8b=( ) B mhgo] st

AZ BE

Hdsokkkahook converter DEMO Watermarks### %



24, A1 ) AFA L.

A& BE

25. AY AR AFE () HolopArt

A,

o

B.

il

26, W7t ek 2 ( ) & Sozh

A& B.

]

27. Avk( ) BH U wo] B 21 A ohy?

A% B

i

28. & () B FFo] A4uA o

AL BE
29. 27 ( ) Yol How Q.
AE BE

30. F7( ) &7

pgd
o
X
i

31 ok ( ) 7, () B

A,

o

/

ftlo

B.&/ C. D. €

o

/

]
i}
i
i
Moy
o

32. 8371 ) HE7h A () Hen?
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>
o
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tu
B
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o
it
it
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i
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33,4 ) BE, () weEy?
A/ S BE/E C S5 D242

34, GFR AR ( ) Fobsh, AFE ABS( ) Fopsh?

As/€ BE/E C=/E D.E/

o
s
o

35. & ( ) UF o] mpAld A7(

e
i)
n
50
)

A/ BT C. 2 /5 DS/
36. WA X =( ) F A E, W( ) goAa.
AE/EBE/EC.E€/EDE/E

3784 () YL, A ) oA,

AE€/&£BE/2CE£/2DE/

Ll
il
o

38, () Fobshd, F3( ) Fopst?

=
o
b
fjo
o

it
e
i
(@)
o

/& D.

/&

fujn
i

39. AAMC ) Eol B A k() Hutr Roje}

AE/&EBE/ECE/EDE/E

40 98 ( ) 7hA AR () o] Aojel!

AL/€BE/ECE/EDE/E
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Question 41 - 60. Choose the correct SUBJECT MARKING PARTICLE ©]/7} to complete the sentence.

41. v3B71( ) =2F

Aol B.7}

A.e] Bt

44. A7 ) A% Gt

A.°] B.7t

45. 9 ¥l () ko EATH

l/\.o] B.7]-

46, ¥ ML A= () A 283,

A.°] B.7t

48. A () T80 Hrta ?

A.o] B}t
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49. 2w () wol M AA Ke.

50. AQ () 2EA ARel?

51,0k () Foh, BT ) Fop?

Al /ol B7H/7F C.ol/7F D. 7k /€]

52. &( ) WAL, @2 ( ) "HAL?

Al /o] B7F/ 7} C.ol/7F D. 7}/ <]

53 AlC ) &g okl o () uketstAl 2.

Aol /e] B7t/7F C.o1/7F D.7k/ @]

54, A ol () ok, HINH( ) Fol?

All /o]l B7t/ 7k C.o1 /7t D.7}/ @)

55. Ul o () #d, AA( ) E=FsHIA!

Aol /o] B}/ 7F C.ol/7F D. 7}/ o]

56. 7ol A= ) glelA, Bh( ) EE gle.

Aol /ol Bt/ 7t C.ol /7 D. 74/ €]

57. TV 8]B2Z1( ) §lol A A], otk ) shupiich,
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A.0]/°] BZ+/ 7} C.ol/ 7}

25
D..7h/ ©]

58. ¥AI( ) "R =gA 7HA, €9 ( ) &g E AR
Aol /o] B7F/7F C.o]/7F D.7F/ 9]

59. Akl E( ) YA & A7 ) 2

Aol /el B7H/ 7t C.ol/ 7k D.7}b/ @l
60. HFFE (

) RAUA A ) A7} ok

Aol /o] B7F/7F C.ol/7F D.7F/ 9]

Question 61 - 80. fill in the blank using a correct particle PARTICLE 2/%&, /1=,

sentence,

61. () U ) AEE AMFsE)].

62. $ar7) () A=xh A ) Hr).

63. oF- () Bubzk, Aul b elA F3H( ) mskeh
64. AR () WAL, FAbF () HobM Aol Frt

) At

66. AF( ) ol A AT( ) Wb £Ph
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67. AHE2H(C ) 10,00070 8] F-5 () AHE-3f wkEo] Xt

68. A5 ( ) BE( ) Hew FF $H( ) vhaLh

69. I=AE( ) F=e] J5( ) 71 Frha Tk

70, W( ) HguE SR ) ol vhAopA!

71 9FC ) AYC ) 3E AL ) ke

iy

zed

72.8b5 () HERRY, k() U AEEA =) Fskeh

73. 5% ) AR ) FERAF(C ) 74 FEAT

74 AW () BT A5 ) dolupq a2 H( ) Yol

26

75. WA ) Eed ed i A ) dedolyuzt, wEel 7bA i ) =Rl

76. W( ) UF 7 B HAEC ) shl WA ZElA 7S ) FA4 sk

77.FF(C ) R ZAAM AR A ) el

78 W () kst AebA () F( ) obubA k() WA=, A ) ok A Ak

79. a1 ) AN FA( ) A7) A AR ) FAE 5 ATk

Hdsokkkahook converter DEMO Watermarks### %



27
80. ¥3H( ) B A, 2ol B7IE 3 A ) AREC ) §loIA U £4 Bokr).

Question 81 - 100. Find the particles that are used incorrectly and write the correct ones underneath
them.

8l. RRES WIEQlo 2,

82. & AL oyt Fol 514 AR E sk s ol Uzkavh

83. AUIEEE 2|9 A¥E vo] 2 HAEEZAT

84. WFE vhAlW BI7h R EA W )87} Bobrith,

86. g5olo] Hhuhih-g Fopgtrhiz o]obr)iz Aol le]!

87. A E o™ A o7t & Kol erobx At

88. =49 Yul& R2H £E oldlfst= Al €A Ytk

89. m7]Eo] el glow, Atgde] HL Frol Belth W) &, ZFobx] 7} Hell Q1o Al A ®Bal

90. ut7t ohihel Al A2 Efth Aol S wtECAA 117]& ALA L.
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91.

92.

93.

94,

95.

96.

9

98.

99,

#59) ol g UT 494 welFo] YEoeth

NE7F EA o & A B RAH

8 4% Bol shA| 477} ukzich

Fg A9 3, 19 B2k ool A Ak
B% AL AEES AT FH, W20
avhie] #9477 3Tk Avkel g A3 A gk

8 U% 248 G B2 AEsT,

Ho

Q42 wol sok Ago] FobH A,

W2 Freku, @re] Aelo] WAl Fobd Aok

100. etk vol 7k B2 ALEE Wb, o9& Zk A Zaljof dirt
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Q: Which of the following can be used to describe the beach?

BiCt=... 1) 25 2) OFSET3) £ 4) §E 5) =4
Answer : 2) OFEEHCH

Predicate (A1=01) of a sentence describes and identifies:
1) a person or a thing (place, building, object, and etc.)
2) a movement ~ .’
3) a shape and the characteristics LF= J|8E T,
4) condition.

HEo|- Lz|C
Without it, we can’t clearly understand 1 | = =elth
what the subject does or what it looks like. C

BiLtLEE greiT}t
Circle the part that is a predicate. —

oktE BY MO

Answer Key

2|84Th, S2ITH SRRITH HDIQITH
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Categorize the following set of A1= 01 below.

Of2CTHC} =Ct QiC}t 2L STt SHHO|CH

o4d =
cofl el BiDIZCH  glQuTt GiX|Ct
gr2|ct i OfZLCt Auoct
1) Person / Thing

2) Movement
3) Shape and Characteristics

4) Condition

Circle the A1= 01 to complete the following sentences.

HI842|< OHS (w2 | wa | weo)
B0t ag (zga | = I%'%UJ
2HOFX| 7} B (g [ oAl |
HEE ZAe (otgcte [otggct| w9 |
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Categorize the following set of 4] % ©] below.

32

bEwT  wT wn Fag
A5 e R
2o ¥ Jea]

1) Identifies a Subject

2) Describes a Movement

3) Describes a Characteristic / Condition

D stgolctk w4
2)

3 obEET ¥n Axmt wAn

Circle the A1 %] to complete the following sentences.

Bl 7] = w5 w2 ) 2
A7t As z¢s | 2

7oA 7} A = Adeh | oA
AFE T8 b5 The | b

e,

Hdsokkkahook converter DEMO Watermarks### %
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Answer Key
Pyt Aol
Fiseh gt

oy oprt

E)
)

- = o},

21

2

[k

Gl

Answer Key

Adch,  ohgg,
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Practice writing the following sentences and color the 1% ¢ portion of the sentence.

257k Age o

15
o

o} 7] 3 %

rlr
=
o
-
iy
r
ivf

&
X
rlr
o
i)
P
D
o,

o] ALl gkotbA

ol
-z
oot
L
A

20
B
ui
Flo

S RIRIEIEE

Answer Key
Bk Ped welt EREUt axut
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Select a A %] from the list to complete the following sentences correctly.

Fobgych eIy Helguh,
JEUT.  AABPYT. FALU

A olE <

S o] 7t W=

A ok TE

W7} gl

&0 F3= AT

Answer Key

A 0§ FABIIL  Ax dstaslvch  Eaelst mes) ol gk,

Ae okTE Forgudh. WUt wol olFuth Ful J3te A FAHEUY
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PREDICATE
RES

Question 101 - 120. Read the following sentences and identify the portion that has a predicate.

101. 987} &},

102. 937} A5 8faL 9t

103.

oY

yolx)7h AL RS ¥ 3

30
&

104. VY771 w9 At

105. 7127} B2z A,

106. S3Fell Q2] Fol ohxeh.

107, &

e
rlo
oX
s}
i
i)
O

108. o458 8|7} Fych

109, o}7|17F W5 %3 olsyTh,

110. Al 752 g AloF AT

wdxkdkahook converter DEMO Watermarks™* %+
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111. A A&l AZ7F vy Fudve

112. 717} viE F3HE Yt

114, vhgto] A% 431 2ok,

115, & Bel A %ol 3l 2atc}
116, Fo)8 ol o mepe wEth

117. Qe Ylo] w2},

118. do}bi= 227} ol dth

119, vlo] &3 A5 3 o},

N

120. 229} g A7 A7} et

Question 121 - 150. Read the following sentences and identify which of the following their predicates 1)
identify a subject 2) describe a movement 3) describe a characteristic / condition. Write down a corre-
sponding number,

121. Y= Aol

Hdsokkkahook converter DEMO Watermarks### %



122. 49 o] &

o
rlo
o
ﬂ.‘.}“_‘
Y
B!

123. U A5 717k Atk

124. 571 A& 3

125, 719¢] & 3% Anh,

126. Ml ol AbEo] g wrt!

127. d5do] Hojgit

128, v]el7} obxt,

129. +5o] AAs] Azt

130. A7) Q0= Abghol W) 4FEol ek

131. ds717F 25 S35

132, Hhvhuls kAot

133. A7F A A ol gkobr] 3L vt

134. @A 7} ot

Hdsokkkahook converter DEMO Watermarks### %
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136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

147.

*dskkkkahook converter DEMO Watermarks ks

kol w7l el k.

X2 STL EAT.

o] Artet ZEo] F&F U}

sl uto] =) e g},

3k 7h7o] ulshck

tlolo] E & wo] ajA] st}

a7k Y% A

ghio] e,

2o w23 Fi-th

Tl Ao) wr}

A3He el sleh

Ho

t
rle
i
i
it

38
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148. 2ol 9l 3 Ad]dyrt.

149, 113877} AHE xR o) wF= o},

w27

150. 8tto] 3

O

Question 151 - 180, Fill in the blanks with the appropriate predicates from the list to complete the follow-
ing sentences.

ot mEd g vt 2A% BEelt
Hgoltt @ttt AYUd Ad wd
gt el ofeltt Qalth oludun Hgt
tEch vagn dyEt gt g Agdeld

etk etk Atk fok FEY fdEet

151. ZUY=EFY &= 5550 HE, thetylstoll A 73 22 ( ).

152. to] o] 9l Aol A ol e o7} ( ).

153. 2&17] 58 Hlushd, A%zt E7jxt A4 ( )

154, el 7k sinpe}r] 2 $1ell ( ).

155, 2317 ¢} 22 v szakA ARA N ghe] ( )

156. 95 obd AALE 34 ehateiv] w7t ( ).
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157. 2= 2] fref 2 ( Vi

158. vh= 4 Arolar Y= ohdl Aoly, vzt et ( ),

159. 528k, 78, o], AK BF A+5 Wi 5 S5 ( )i
160, o] A &Apol 3L, AL ( ).

161. 25& %3, A% ( )

162. SHlelel ¥, whgih ) ol B A Aeln, i e RE UsEe 2 (

163. ¥HEUTh Al o] 52 ( Vi
164, A, Ba=Sol YA EZA Wola] ( ).

o

165. BB A 71 A& 55

( b

;

166. a71El7F 21 25 ol &allA #Yd-& ( )i

167. A5 Wy o8 AAIu ( )

168. 71@o] &tuprict 717k @&l ( ).

169. 2k Fo] nAB7)7F JE 2 ( )i

Hdsokkkahook converter DEMO Watermarks### %
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170. 95 ol mbR Y A7 A% ( )i

171. Eto]Eb & W7k 7HF Foldhs A= ( i
172. 20cm# 2] 2ol 7]+ Sem#e] 2o 7] 1o} do) 7t ( )k
173, A7t & 2 Sk AZar gol ( ).
174. %50 FA= dzol ( )

175. 345 ol Aoy A4 rch AlF A7} ( ).
176, FBA = FElAL, FrlE ( )

177. 74 3k A ( ).

178. v g 2af A U= m2A ( ).

179. ¥15717F wkggtel] ( ).

180. &} X b7k A2k w2 A ( ).
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Q: Which of the following best fits the box?

1) & XIHCTH2) & RIYOf 3) & X|LH2t

Answer : 2) E X|lio]

There are many different types of sentences. They can be in the form of
explaining, describing, asking, commanding, and expressing. Usually,
they end with the following ending.

Explaining and describing: ~Cl, ~O|C}, ~QIL|TH ~Q
Asking/Offering: ~7?, ~Q7, ~NQ7, ~0{?, ~L|?7, ~21Q27, ~L|
M?, ~A ~&

Commanding: ~2}, ~A|Q, ~2, ~A|L

Expressing: =L, =CH, =3}
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Copy down the following sentences according to their sentence type.

ERcARE)

ot

Zh=ele 250l oF
WY Fstre 271272
EjH| & 72}
2, oAl vh& 9 At
ol FA ot H

1+1& 2994t}

Explaining and describing:

Asking/Offering:

Commanding:

Expressing:

Answer Key

Zheolls @l obgEs Y 1412 294k
el g3tue dzte. 2 oAl
Commanding: 2

Expressing:  ©l#A oFgrha47H

Explaining and Describing:
Asking/Offering:
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Complete the following sentences by inserting a correct punctuation mark(. / ? / !), and practice writing by

copying down the sentences.

A7t ABSE H"Hue
a1 o B 2 O s =
AlFe] [F=] ERM

goe 2d8E =97
s BZh el =

*dddd*kahook converter DEMO Watermarks
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TYPES OF SENTENCES

=4 o] =
B 5

Question 180 - 230. Fill in the blanks with the appropriate punctuation marks (./? /! ). When there are
more than one, write down both.

181. A2 I = ojErta ()

182. F! Aol ogA "ot ()

183. 252 A AAZH )

184, oF17F F, 77 £ ()

185. A& o] ¢low i Azl Fh( )

186. &4 HFEE nA2( )

187. o7l & °lf7F ¥y ()

188. #pejol grot= A7t Q ()

189. 7)ol gro A2 ( )

190. S A7 o9 A F&57H( )
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191. 253 F3= ojrl lvta ()

192, W& Yy glo oAl el AT )

193. Azko] S=glon ofA el 7k )

194, ofm! A ol =2 ()

195. 9352 A% zopAlek. 11 AH Lofrkok sl 7H( )

196. 2} Al zF ek w2kl ()

197. A5 2AA ()

198. o] # e Aol M ek( )

199. =AM = 283 A )

O

201, S-frell= Zfo] Brh( )

[\~
=)
[\

2. sh1 27 o ALk ()

203. %7 A7) FA) EHUR()
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204. FAE €3 S dojrAa()

205. W7} o] 71e) & o] 97F ¥ A ()

206. E5oltH 5 Foleb( )

208. g Hoh( )

209. TR vixaL 9 sE sopaltk( )

210, &3t 78] 2 AWsvta )

211, A= Z A2 ()

212, d2 A7 geAde )

213. AH EAY HAY()

214. v wol uja3xA] ()

\)
e
2]

5.0 H8A ()

216. Agrof! Stare] seATH TNk ApaL wke] dojuk( )
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217. A, o] Al gH& Hol&7k( )

218. Ak v sy 7k )

219. &= TAAM()

220, o4 Fefl 7R )

221. YA = oft]ol A Bt a ()

222, FAE A Auula( )

223, ARl BobA] HRSTH )

225. 7 #o|th #& wiek( )

226. 271 vk =4 ek ()

227 A 2 AA HYA()

228. 252 dA Aok ()

229. =i Al o)Al Hok( )

*axxxxebook converter DEMO Watermarks*
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230. o}! oj@ A o]&l do] o1& F7H( )
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Q: Which of the following describes the way the turtle walks?

AS0IPH _]2101ITt 1) £ 2) ol 3) ¥3YS

Answer : 3) ¥2%2

In Korean, there are words that imitate movements and shapes (2/EHO1)
and sounds (2]/g 01), to make a sentence sound more realistic. Circle the
words that imitate movements and shapes, and use a triangle for words
that imitate sounds.
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Connect the following pictures with right words.

<
FRe
7 Emgr [ ] ®ofuck

S —T T

TRy

ﬁ_ S0t [ ] Bauck

ggol [l suguc

sRoPH ] ALk

£y T [ | syuck
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Practice writing the following sentences and color the £]/3 ©1/2] Bl portion of the sentence.

Answer Key

gel. F%. sehbid e w9wd
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Select a £]/d ©1/2] E|©] from the list to complete the following sentences correctly.

W B WY okgobe
2487 ARAL AT

AAA ] aEEs WRA AR,

PEA2GH | st3 w2 vzt

wol wapq g2 |vhidele,

Aol vl gA [ | sm doiziols.

A AT £ E A Az, Rl wwew ok WA Ak,
Ho| el B8 B

&
£ 27
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g ARLE B Hol g,
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56

IMITATING WORDS
2’3l / 2l eef

Question 231 - 270. Choose the most appropriate imitating word to complete the following sentences.

231. ZobA7F ( ) Aeth

ARZFHZ BEY C3TF D.&4 EEYHHY

932, L7} ) Aoz},

AATAT BEHTY CLE¥ DYEF EXTHT

233. 747} ( ) kgt

AM® Bokg C.3% D.E%E Buw

234. AFA7 ( ) kil Wbzt

AFZ2F BAERE CHEHE DISIIS EAA

235. Al 1%t nlgo] ( Holglt}.

AAFAY BEES CHgNE DUEF BSYY

236. 297} w118 bhebell A ( ) "ol Ft

ABZ BRZIHZ C¥® D&Y EL-TL¥

237. A o7 () Aloizieh,
ATERE BAEYE CARYF DA EAEE
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238. H22 ( ) EEUT
AEFEHE BISYS CYSYE D.4E%4E B2
239. a1%ko] 7} ( ) 8tal &Ytk

A4 BES CH% D2 Eoks

240. 3171l A2 ( ) 13E P
D&

AESEY BEEES CRIRNT

= 2Z E. 3%

241, ¥Ap=r 227 A oA ( ) AA

Adaads BEHFY CAEZ4E D.HYEHY Edddy

242, ZA7) 50 £H A ( ) E3Th

AFSFS BETY CEIRI DARE

=
=
>
2
Mg
&=
N
At
=
i

243, A3}7]7} ( ) 3t3 St}

A BR C3=g D.31EY E.mokm ok

244 o] 7} ( ) 8hal &3t

Amckmel B#=l CFEHE D.obetuie Bube

246. E717} ( ) Holgtoh
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ARERE BRE CAF4F DAYHY Ewlmww

247. Aol ( ) At

AFES B9 CALR D2 Edae

248. A& Eojz=g ( ) taL 7 F ek

ALY

Ad1% BYE CA1% D.TF ERT

249. A &o] ( ) 8kal F& whAbglTh

A%% BEF CEE D.¥¥ ERB®

250. AAA M7} ( ) #7] Az

AELZHEZF BFEFE C3Edhe DoIE°E EFFS

251. AZ7} =57 ME ( ) A W] Azt
AS%3% BHEAE C&F3 D.AF EEESEE

262,91 A7 () AdH wE gew Bk

Asv BE= CEE D7 ES%

253. 777} ( ) Tt

AFHEY BEZ CEHEH D.¥ =25 EHHUY

254, 3tEel F50] ( ) vtk

ASAFE BYFY9s CFE5E D.&% EFY

a
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255, #E7} ( ) Rt

AAMEY BEYEY CARAE DEF BERES

256. 3] A 2= ( ) e,

AAZNZ BHUEHYZ CUEYE D.3ests E5OED

257, o] £ o] ( ) J8ith

AAY BEA CEX D¥% E3F

260. o] ¥ ofo] 7} oz A ( ) 3hal &t

AEYHEY B757]15 C.3F8 D7k E.ooF

261. 7tk ofol 7} ( ) Akl LT

AFZ BAZAZ CHF2F2 D3tk Bdg

262. A& GgE Bty Aol ( #r}

AZIEAE BANAY CEE D&% BEFIFD
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264, AgAte]] ©@Eo] ( ) Bt
AEFER BEAEA C-3=% D3Ess EAZEH
265. #2 AR FFE A3 ( ) Atk

AEAEYN BARYNY CEHEY D.24HZ Bz

266. 75712

o
£
2

>
>
Y
o
)
b
Ko

A9E BYEVE CEIYY D.ALRZ EAHAR

269, S-zpolHlol S ) T8,

AEEYS BAZAT CHYY DEARY BEFFE

270. 247 E7] o)z} ( ) 3kttt

AEAED BEHEY C3gsts DAZAZ EAHRAIR
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Q: Which of the chefs above described their cuisine better?

In Korean, adjectives & -2 Al are used to describe the following word
more accurately and vividly. Depending on the word you choose, the
meaning of a sentence would change drastically.

There are three possible uses of adjectlves

Describing an object

Descublng a %ub‘ect

O Xl RS AF2L xivzict. wopt SN FQSHE =un.

Debcubmg a pledlcate

Qrol || oICTt. '

Fdkkkkahook converter DEMO Watermarks* s+



Identify the type (describing a subject / an object / a predicate) of the following sentences

1. w3 S A7) ob SRl L. 2. $¥E AR JoE wgh
3. wla717k whesl dolziet, 4. AT ol 1712 Wi,
5. 7127} A3 WEe, 6. Wr/l HRAE 2 F AF A,

1. Subject 2. Object 3. Predicate 4. Subject 5. Predicate 6. Object

Practice writing the following sentences and color the & -§-A} portion of the sentence.

S EATES wEQ

Hr

o
iy
rlo
Al
X
(14
A
L
2
ko

Answer Key

A AR

3l

g
e
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Connect the adjectives that are opposite in meaning.

AHors ° e Vb

o 22 ® ° Lok b
= A ° ° He
oo ® ® k-
e ° * 2
A3 ° e we
Answer Key
Add -2/ dHel® - ARG/ w2 - m@A / Be- e/ ®e - %/ AWH - z@A
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Select a & -&-A} from the list to complete the following sentences correctly.

65

Al Qo A AHA gkeAls, 5%
o]

=
F& Az ol Sl sl AFI A A Uk vhee] Hofsls.,

Hdsokkkahook converter DEMO Watermarks### %
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ADJECTIVES
G4

Question 271 - 320. Choose the most appropriate adjective to complete the following sentences.

271. ( ) AT E #AY Ee] mRE S

ATHES Bel® CA43 Dol EATHE

272. 5487} (

AAlo BTG CojgFe D.EFs E53te

273, A2 A EE ( ) Tl 5Aolth
AsTd BEJIET CHEFEE DAEE EFA

274, A5} ( ) wihzket.

AADA BAYA C71EFEA D.EFA Ew=7

275. 8.217F B ( ) EAFH.

A BAAIAl CRAEsA D.EAA E&xA

276. 920t () B HA) 71l F3kvh

AEAE B2 CARE D& EWE

277 ( ) stEels el @ A sk

AF¥ B C.ubgt DA En|Est
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280. g4l ( ) Aol AR T

AZZE Bugdqd CAdd D8 EwE

281. W% ) AEE ARFEMA FEAHYQ.

AFE By CaAg DAMIEZS Bt

284. o} IFE S F Yol ( ) AERU .

AFRS BESE CaaEe DEd EAG

285. ¢ Y& ( ) olot7] = wWol & Al

AAILE R BAYE ColA2& D.F¥ Emidt

286. ( ) A”lel FF AT Aot
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ARSE BE2 CHME DAY EAFT

287, 42& ( ) ZFdolth,

289, ob¥ SAE Sl () AFAYTH
AEWE BHYE CHOE D.AAR AT

290. odo] g ( ) T B wkgo] At

292, @ vkl whyt 317-9] Ao ( ) 7ol 7HS g

AZFH BolAe e CHITE DM EADEE

293. ( ) el e el 2

rlo

Agte BRE#E CAlee DAH-ZS Esgt

294. Agle ) F7W7e] ok

AYGZTT BHIHT ColdE DAEH Edd
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BE( ) o7 olEdA L.
ASHAE B.SIEE Co7kE- DR B3
296. ( ) AR Q8 gore Y & @7} of Lt
AFod BEREHS C

) Abehe w7k el A ghob #AE S Baol An,
AdvhE BAZ CEA% DAEdE BEFE

298. eJHel 59 ( ) U AE B gEgac
ANES BAAE C.aAFe D.EHE B
299, REEE ( ) w3 e] 5ol

AUHE BEAS CdYE DEtRe EA4Z4

Eog CHl5e DRHE Bipe
301. ( ) TE7F A AT
AT BAAT Crlnele DE R5W

302. W1 oAl ke ( ) BE AT
AT BAAE C
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Mo
I
i)
)
e

A.L7% BAEs C.EL2 D.EILE

‘;'LN

) &g gk

304, 5ol A Fod A5 (
AdEe BA/RG CFeE DAZS EAFES
305. B7)¢} gl A7kl Al ( ) e

AC]ZE BolEF C3lZE D.vte EfAbst

306, AFo] BE wubzt F, 2% ( ) ahg st

O

A3 B.3e C.oZ2 D.OE Eo|Z&

307. &2 A& "gol 3 AHE ( ) Aol th,
AP By &g CAE% D.IYEE EJE e

308. F&hui¢-7} ( ) o17E 1oL Al Aol vkttt

AAFeHE B.2sE C. A3 D.3|v 3k B3l 3

309, Yz F-=8& 7] 2t (

A4 BE1d

310. Fr=tol= A% ( ) ‘g ofsk
D

A7k Bolel C3dad

) AME] FFOE wolFo] A9 ARHh

55 C.oad DI EojEE
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312. 1042t F=F HR7)E B A2 A ( ) 3ol

A7 BARESE CHAE DAAHE E.

ﬂ\‘
rot

313. ( ) AR AHE w)7) 91814 thelol EE gt

¥ B.x#He CAHNE D.ETH EFA9E

315. 2UldA Alt9] ( ) Z223E B gheko] 2t

Ane CHd DEIER EFEHE

g
a
td
2
o

316. obZel bl A 7Hg () BBE Akt
AAWE BRRG CEU DUl EUE
317. C ) RS A Wl 293 dojol e,

AT BNFEWMIES Cvj118]e DAMYE EgHQE

318. el ZAIES o 1L v, ( EAENE ekl

AANZ Bus=s C9AS DU E.4e

319. ( ) wlE frAEtEE A e S48 # A Hopek ot

AAS B4 CASE DFXAH E.Z93

320. ( ) L 8 Sl $AES BY vhgo] opth
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gkl

 dasUch) (E E ot

W olze olzetm aUch

4

Q: Who introduced oneself using =CHZ?

1) MLl 2) Ot0|2 3) 012 4) EU

Answer : 3) 02

In Korean, if someone being talked to/about is an older person, a stranger
of roughly equal or greater age, an employer, a teacher, a customer, and
the like, honorifics are used to reflect the speaker’s relationship to the sub-
ject of the sentence.

In general, =CHZ can be made by using 1) honorific nouns and
2) honorific verbs/predicates.

Let’s take a look at some of the common examples.
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HONORIFIC NOUNS

One way of using honorifics is to use special “honorific” nouns in
place of regular ones. A common example is using 7! X| instead of &}
for “food”. Often, honorific nouns are used to refer to relatives. The
honorific suffix -& is affixed to many kinship terms to make them
honorific. Thus, someone may address his own grandmother as 201 L|
but refer to someone else’s grandmother as 2F01 &,

HONORIFIC VERBS

All verbs and adjectives can be converted into an honorific form by
adding the infix -Al- or -2 Al- after the stem and before the ending.
Thus, ZICF (“to g0™) becomes ZFA|CF.

A few verbs have suppletive humble forms, used when the speaker is
referring to him/herself in polite situations. These include = 2|CF and
= 2|Ct for =T (“give”). E2|Cl is substituted for =Tt when the lat-
ter is used as an auxiliary verb, while =2|Cl (literally “raise up”) is
used for Z=CF in the sense of “offer”.
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Base Form Verb

Honorific Form Verb

2ET

YT

SHAHO|TY

SHHQILITE /

=

stdoL

80t}

b5 (el

£10{2t

R

Base Form Verb

Honorific Form Verb

3 g
Ctol A
i 2|
CF X

Ottt OtH{ X|

Base Form Verb

Honorific Form Verb

EorL? EP[uaeK,
ARALI? A0 HLIQ?
ofL|? ok LInt?
gelL? el Lnr?
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Select an honorific from the list to complete the following sentences correctly.

dof A AL
=H goAe  HAYS

o) oz AwE el [,

oA [ |7HH A¥L H 3 gt

oy |edE d FA

el s [ 2

go, ol =AY Aws [ .

oAiunA aze[ .

Answer Key

groAde.  dHel. M. mEzude? =Ae. =t
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Connect the normal words with the correct honorific forms.

H} 'Y ° A A
Lol . d =y
U ° ° AE
= ° ° 42
2} . ¢ A

44 ° ° A

Answer Key

WodA el u-A du-geA Eoh-olgth U-4
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HONORIFICS
WAL

Question 321 - 340. Choose the most appropriate honorifics to complete the following sentences.

321, obx), A () shilel &2

AW BHE Cogg D.AAN EHY)

322, o], o] & ( )

A.grolgl, B.gkSal? C.goM Q. D.gto®, E.grolm),

323. A48, ®ol 7k2 AR FMA ( )

AZAEAG BTG CAAR S Das B4

324. A AAAE, A 771l - A W7t ( s

AokEUnt Bopzd] CopEv D.opznr Eobzyu

325. &Y, ( ) AER L2

Aol BXA C.HE& A D& E.obdd

326. HEsFA Ak F ( )

A8 BFAZ CFAAYU? DFAAQ? Edissd?

327. 8o A ( Yol 7b4 QIAF=2 of~],

A®E R BAE R CYE X DA EY
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328. A AAEAN = AFe ( )

ASMAL B.AAA? CAAYS Dotk EglsdTh

329. U7t AAEA ( ).

AEAEA BofedA CEEA D.ESA E L=

330, oA A=& )

AFT BAZ C.=ez DAY E57

33L. oHY, && F ( )

AFA . BAZ CH. D.E®e. E=d.

332. 41789, o1 A ¢ ( )

ASW? B.REge? CEAQ? DAY EFAA??

333. oh ], 233 ( )

AFAL? BAMAL? CHE? DFFH1Q? EFol2?

334. 71AF obAA, oWl A FA e ( )

AdiAFA L. BulgFet Culgsd. DUy, Edddoh

335. 1A 5 @A A4} ( )

A3l B.atAE Cetd D.stAlL E.sbAet

336. 91241, AF 2R whAl L A3 ( )
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ASMQ B.o¥E C.99 DoAY E.ofg

337. AAF U o2, B Aol A ( );

Aoy et BdojupAgt C.doltiiA e D.dojurl e E.dojut

338. Boh A, aptol o W, A4k Fol ( )

AHHog BEAZ CEAL D.HoMe EE=M

339. oA, A7 vt AYE A= ( )

AH? B.E7k? C.€712? D.HAA? EHA?

340. &9 ofef, we 45 ).

AZZ1Z BAZIAL CAZIAR DA EAAA

Question 341 - 400. Correct the underlined parts with the misused honorifics into a normal form.

341. A7 S 24l

342. A8 A7t EAE FAAEU

343, U7t A1 WA Aol 94tk

344, W 0] AH3] 2 staL At

345, o2 ojz} ofo] 7} EjojLtATt
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346. VH= thel 7k obshA] Aol gro gt

347. oA, U7t sl=dA Q.

348. ot A A M EE =Rt

349, AR o] yollA s AE UFHt

350, HZAIQ FFH E= A a gk FoFo] 5404 ytt

351. AHg Al whEA Wiyl

352. 887k A ShlAl =X

353. $¥ & AWE I35 BRMA 7224 F5te)

354. mE2akal A9 vhAY E2AA w2 A

355. 55 E7F Avw @oE Ex4vt

356. M A G} g 2hz HAEF =

357. 7oA AN meE ZAUH

358. &%°)7} 1715 =AY
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359.

83

FAANE AF Aol doslvie.

360. Wi ¥i7h LA

Question 361 - 370. Convert the following sentences into an honorific form.

361,

362.

363.

364.

366.

367.

368.

369.

370.

AWy zt yellAl &8 F3Uoh

FyiLlsl Gokm A7k §hg W=t

ob )7} ot ol Hel & Fk,

Hgdel g 3z ek

5. ol 2] 7} o] 2o gro}g)th,

Abio) vhe} ot

kol HrE Bt
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22|l= thEol
CHSHAYO|

Q: Which of the following should go in the blank?

1) TIDQI01Q 2) EIQI01Q 3) HHoQ

Answer : 3) 22012

When writing sentences, you can talk about something that’s already hap-
pened (past), happening now (present) and is going to happen (future).

Let’s take a look at some of the common examples and answer the follow-
ing set of questions.
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m Already Happened Happening Now

Use
~ 19t

in predicates in predicates

Chnn:ging BC} -> HolC} SHEL > B UL}
Prediate HCF-> HOC} HCp-> HNQICE
gk -> goict BiCt-> it
&t -> =9t} SO -> Enn

By
Using
Words
Describing
Time

Going To Happen

Use
~ g3to|ct, ~2ic}
in predicates

2Ch-> =2 2do|ct
HCf-> B

St -> $12210|Ct
=CE-> =20t

*dddd*kahook converter DEMO Watermarks




87

Connect the following sentences with the correct time form.

AFgWe . @
HE A48 Ak .

® Already Happened

®  Happening Now

e Will Happen

o] wol ik, .

30%F Foll ol Aok °

Answer Key

Already Happened - &~ A48 ek Fol gol Wt
Happening Now - 21 91 gl 1o 7har otk

9l e T
Will Happen - 3179k 4345 & sloltk. 303 ol el 27k
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Select an expression from the list to complete the following sentences correctly.

Aw oA yd
3d Ao 59 Fo] wWF

A7 Aol A Fe,

=
s

[ oz 9= A9 A=e] By2

[ Jord 946l Qolnof @int

[ %97 &) a5 ol el #4942

rlr

old B&5A7E?

[+

Answer Key

oAl AF. Wil HE. 3 Al 59 Fell.
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PAST /PRESENT / FUTURE
SFCEL:

Question 371 - 390. Choose the most appropriate expression to complete the following sentences.

371. F&oh W 8 ( )

A glel? B.HA? .Y JY? D.HE AY? EHETU?

372. AAE A7 Al §- ( )

AFAA? BETY CHFAY D.5F& 3 2k E&

373. e AF IHE ( )

Azka glel. B.#Slel. C.3th. D.aka Qlgleh. E.8bAt

374. Ud Aol stekol 2 ( )

AR7EA B.oA®glel? C.oi®sta Sivt. Do, E.% Folo.

375. F3& A= g ( )

Azkth B.zkdth Co7bar il Dok glok. EzEdA?

377. U 1A 744 71 RO Z ( )

Azkel. B.ZA. C7ka 9lel. DM 954t E.zkqith
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378. 39 Aell, ¥ ZFol=] 5ute 7} ( )

Aol B.ElelgY T Coejoluiieh, D.Ejelxtth. E.olua SIsich

379. e AF 7 v ok B gkE ( )
AMFUZ? BHAE7E? CHAJEUL DY syt EYdE
380, At 52 AE g AT Ud AL ( )

27t? BARE. CF:H3017 D.5& Folth. EFHAA?

382. 2060 el vt WA B2 EZA 7} ( )
AAA7? BAZM. CAANA? DAL EAZ I 3L71?

383. Ul $-g]7} ( ) Aoy orelste?

AXtSd B.abd C. DA Exbd

384. Az AN AT H L ( )

AU BA CAY DAL BAW.

385. -] & Folg )

ARtk B.E@7? C.8bah D.shl. E.8lA]?

386. W 1|7} 13 a1 vhgro] el ( )
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Folth. B2t

i

FUrth DA

387. oAl 7} ShEE el ( )
A el golth, B Aolth. Cjeith Dtk Efal: itk

|

388. W2 Aol Wl Bu7)E
AMjelobx, B9tk CH9A? D.¥gY? B 9k
380, AR E AMF) #FS ()
Atk DAt E.sta ek

AR, B3t C

t}i= o

390.54d A 2%,
.8k D3k,

A8ttt B3

Question 391 - 400. Choose the most appropriate answer to fill in the blanks

391. A: Wl ob el ¥ & Aol?
B: olm olo{\,}q TLH

AZ. B.AA. C.aoRA.

A Eue]?
)

392. A: F7- A7)
B: &. et 311% (
A.o]71a gle]. B.ojzit}. C.old7 ok D.olzlo]. E.old 2 o},

393. A gatoll A Hstar 9lo)?
B: st oz ekA] ( )
glo] D.FEHA. EF

I Aok B.3%3o]. C.3¥ a1
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394. A: Y= A do] AA|of?
B v 3€ 11 ( )

AH AL BEleixtol. CoElold 7ok D.ejolkol? Edjoiuhar gl

395. A: A Anpiof ¥87
B: 743} ghA A4} ( )

Ao, B.3SIA. C.3tg 3. D&t 9lA. E.ska 1.

396. A: 8% ol 97 A3 9?2
B 2991 oF ol SEA ()
AAET 9Jo]. BASEA. CAHR. DAMASE EAA.

397. Arvideld wi7h g 4o #)?
B: A& 234F0] ( )

AFEH B.HI AT CgYY D.EE 94T Ed Aok

398. A: S A4 72
B: 30%& 39 ( )

AZFa Q). B.7bal 9lol. €. Aok D.7be= Folok E.zkA.

399. At A5 ofH ol of?
B: gl 25 8 E el = ( )

AAGI 1ol BAE Aok CANO]. DA Folok EAWA F7Ack

400. A: Aol A ETL AAA]?
B: Alol@ M EE o|n] A3z ( )

A2E Aok B.2RA. C.E€E7? D.€¥ d7%°lo}. E.22H.
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(Mailman)

(Police Officer)

(Carpenter)

(Singer)
(Musician)
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(Doctor)

(Hairdresser) (Barber)
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|7tk | oot [ 2t20rH =8 | HE | e | =

Of | 7Y | LR [H | 2 | 2291 | 7

(Forehead)
(Parting)

(Eye) (Eyebrow)

(Sideburn)

(Earlobe)

(Nostril)

(Nose) Tooth )
(Tooth) —- (Lips)
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The following words are hidden in the scramble! Find and circle them.

gang ah ji : puppy ji reum gil : shortcut

toyoil : Saturday jeon hwa gi : telephone

gi reum : oil adeul : son  won soong i : monkey

2t
@)
5t 0
X| H
2 3
21 0
S

ot
>

P4 mn op > o2 ™

TEQAUJ e
LI R-PN:|
= 5 FEHo
7] 70 2 of
2l 21 X| = ot

40| Y E

@)

\

ox HrXdrx M
ot

0

*dddd*kahook converter DEMO Watermarks



98

Ansewr Key

2|5 (Mailman)

24431 (Firefighter)
A& 2 Police Officer)

W=
J

£+ (Carpenter)

7|&XHEngineer)

O|HA} (Barber)

UI' (Hairdresser)
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olot (Forehead)

H2| 72 (Hair) 7420} (Parting)

=¥ (Eyebrow)

FHLIZ
(Sideburn)

3 (Ear)
£ HE
(DEimr;II!e) (Earlobe)

232H (Nostril)

3 (Nose) o] (Tooth ,
(Tooth) &4 (Chin) l= (Lips)

oA e R =
SOl ¥ 2| OtH| = 5 4 0
H Al 19| =5 & R EH
7| & =t 7| 7+ 0] 2 0f
Ot= el {2 XA 3= &t
otz E =0T S

*akrdkebook converter DEMO Watermarksg*#ok



Question 400 - 469. Circle the correct word that matches the definition.

401.
To Stop
R
402.
How
oAmA  ol%A
403.
To Sit
gt e

100

SPELLING
A

404.
To Reach
st P
405.
What
Eay el
406.
To Read
g g

407.
Yellow
LehEn o LeBRE;
408.
To Ripen
ag 9o
409.
To Cover
== sk
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410.
Low
9o B
411.
Debt
8l B
412.
To Piggyback
Ak At
413.
Correct
mo 9

414,

415.

416.

To Forget

Qg 9g

Ice

L
ru
ne
o

To Overturn

gr g

To Smell

101

418.
Light
£l !
419.
Dream
= =
420.
To Connect
ag  an
421.
To Stack
g A
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422. 426. 430.
Leaf Urgent Celebration
J g o am 25 2
423. 427. 431.
To Add To Subtract Sunrise
=7 ES w) of Hjj o} GRS =]
424, 428. 432,
To Close Honest Pretty
wrt o= g AAE PE of &
425. 429. 433.
Locked Up To Open Thoroughly
723l 7H21 At &tk Aol LA
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434. 438.
Fast
e wWe
435. 439.
Wide
4l =0
436. 440.
To Find
E I
437. 441.
Company
ENSE W

o

Day Time

N

Skinny

Knee

it

4n

K
-
hul

Sound

442.

443.

444,

445.
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Thin

¥

To Fill

AS}

Aot

Casserole

A 70

Fish

A 2



446.

447.

448.

449.

e
oft

4%

Chicken

Sugar

Wall

Ey

oy
oft

i)

450.

451.

452.

453.

Cow

Book

Kimbap

Jab)
37
z

i Ak

Pillow

A Hj 7

104

454.
Salt
=5 Ealy
455.
Rainbow
FAM  FAA
456.
Stair
Ak Nk
457.
Library
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458. 462. 466.
Stomach School Song
o H BE S Lo e
459. 463. 467.
Crab Grandmother Snowman
Al 7N ey EHo AL A
460. 464. 468.
Butterfly Dragonfly Turtle
L] ol g FHEo AFol  Fo]
461. 465. 469.
Desk Chair Spoon
Ay Ay a9x o 2k e
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Question 470 - 500. Find and correct the misspelled words in the following sentences.

470. B-& @o] Yo7t XS oA}

471, ob717h 2 Sl e x Yol H i gl

472, S AA 1SS Ak =Rk

473. A AE2 AAFAYTH

474, w2 E]of] o}o]So] @o] ¢ 1},

475. Aol ghobA & Wit

476. B oA Hrhrt v At

477, WA Qo= EAE 2 FolQ,

478, k31 7k

L
ey
-
I

479. ¢} -7t 3112 UL,

480. &) W22 =)t

481. &7kl A& AT

o
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482, A zkel] Ao] Z yiE},

483. A¢] w2 YE el ¥ 2 duyth

484, ¥FS wiy] W AA] w7} =

485, Y& kg &g 7ok,

486. sHel Tl SbE o) # k.

487. 55 A4 v] sbE Aol xEh

488. ¥)F2 &5 7 1A AL BE WA

489. 9 Aol A =7

490. stwoME AAHE BES & =ejeh

491. F5AA JleAd dEFAL.

492, AY 8A el A 104 Atole]l et Q.

493, MHFE F 406 Y 717 ekt

494, WURE AA ojejriop],
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495, #pg] ol kARA HHE W 7] Th

496. Al ofd Atk

497. oA,

P
2
ped
12
ik

498, F°] 71347 A AFo] W

499. A1l 0] B 2T,

500. A 3H& dojmglo] ol
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READING COMPREHENSION
(&3h)

Question 501 - 510. Read the following passage and answer the questions.

110

o= 5 AUyt
oo & Aol HFUTH
o HAol= oA AFE3 AHAE YAsH
e %54 7l REE U 4] oL ws

A e Wi e o ASED § F8E RYEY
W3 ol B g Bk AW dee] 4

2 &) B =L =] =
o ARF FEAHU

)

of
)
Hu @

501. Based on the passage, today is T2 ’s...

A Birthday B.First Day at School C.Recital D.Mom’s Birthday E.Dog’s Birthday

502. Based on the passage, how old is 1 .2

A.Four B.Nine C.Ten D.Eleven E.Twenty

503. Based on the passage, how old is 7f %’s sister, "] 1}?
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AFour B.Six C.Ten D.Eleven E.Twenty

504. Based on the passage, what did 7% have for lunch?

A Kimbap B.Hamburger C.Hot Dog D.Noodle Soup E.Pizza

505. Based on the passage, today is 71 has a pet...

A.Dog B.Cat C.Iguana D.Parrot E.Hmaster

506. Based on the passage, what did 7% get from his mom as a gift?

A.T-Shirt B.Baseball Bat C.Car D.Robot Toy E.Money

507. Based on the passage, what did 7 do after dinner?

A. B.Took aNap C.Played Video Game D.Played Soccer E.Watched a Movie

508. Based on the passage, what did 7% get from his sister as a gift?

A.Card B.Wallet C.Ring D.Shoes E.Candy

509. Based on the passage, what time did 7 & go to bed?

A.Four B.Six C.Ten D.Eleven E.Midnight

510. Based on the passage, how does 7f & feel?

A.Angry B.Happy C.Rejected D.Disappointed E.Sad

Answer Key

50L.A 502.C 503B 504B 505.A 506D 507.E 508A 509D 510B
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Question 511 - 520. Read the following passage and answer the questions.

112

=
ol F3hE Fobarh

Zi—% %71 A syt

=
o —]
[0
i)
-
_ﬂ

o@ii%ﬁﬂiéﬂ%%

o Ut ATTH 250 JUn
o 1] o] Hholli= B 2 4Jo] W) gAgo] QlEYTh

511. Based on the passage, <=7 is a(n)...

A.High School Student B.Middle School Student C.Artist D.Pianist E.House Wife

512. Based on the passage, which subject does 57| like the most?

A History B.Art C.English D.Chemistry E.Mathematics

513. Based on the passage, how many students are there in 5>7] ‘s class?

A.Twelve B.Twenty C.Thirty-Two D.Forty-Five E.Fifty-Two

514. Based on the passage, does <=7 enjoy studying?

A.Yes B.No
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515. Based on the passage, which subject besides mathematics does V] like?

A.Music B.Spanish C.Korean D.Chemistry E.PE.

516. Based on the passage, what does 5= want to be when she grows up?

A.Ph.D in Mathematics B.Engineer C.Computer Programmer D.Volley Ball Player E.Pianist

517. Based on the passage, what time does <~"| get back from school?

A.Four B.Five C.Seven D.Eight E.Nine

518. Based on the passage, who does 57| have dinner with?

A.Father B.Friends C.Relatives D.Class Mates E.Family

519. Based on the passage, what does 5] do after dinner?

A.Take a Stroll at the Han River B.Rest C.Sleep D.Practice Volleyball E.Watcha TV Drama

520. Based on the passage, what does <=7 do just before going to bed?

A.Drink Beer B.Read aNovel C.Surfthe Internet D.Stretch E.Sing a Song

Answer Key

511.A 512E b5L3E 514B 515E 516A 517.C 518E 519A 520B
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Question 521 - 530. Read the following passage and answer the questions.

0 | el B wAE AR
Sl § Al FAkol o, W§717k AU T

: 28 TR Q0% AT
e ApeT mgos FH o gy th
e A2 7bY 2 FPL £elE BdsH: IATE AYU

=4
o wg EE AFEA BAT 5 A

521. Based on the passage, when is 3H=2?

A.April 9th B.July 9th C.Every 9th Day of the Month D.October 9th E.December 9th

522. Based on the passage, who made $+=7

A King Gojong B.King Joseon C.King Imgum D.King Sejong [£.Queen Sejong

523. Based on the passage, = is...

A Letters B.Numbers C.Pronunciations D.Language E.Painting

524 . Based on the passage, what were people using before $+= was invented?

A.Japanese Characters B.Chinese Characters C.Latin Alphabet D.Mongolian Characters E.Hebrew Letters
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525. Based on the passage, the author claims that $+& is...

A.Scientific B.Romantic C.Complicated D.Unilateral E.Forbidden

526. Based on the passage, it is difficult for foreigners to learn =

A.True B.False

527. Based on the passage, the author expects that less people will be studying $H= due to its complexity.

A.True B.False

528. Based on the passage, 3 is composed of...

A Noun and Verbs B.Vowels and Consonants C.Numbers and Letters D .Nouns and Preciates E.Sounds and
Pictures

529. Based on the passage, the biggest advantage of $F=" is that it expresses...

A.Sounds B.Meanings C.Symbols D.Ideas E.Emotions

530. Based on the passage, despite many advantages, F=" is incapable of expressing the pronunciations of
other languages.

A.True B.False

Answer Key

521.C 522D 523.A 524B 525,A 526B 527.B 528B 529.A 530B
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Question 531 - 540. Read the following passage and answer the questions.

116

531. Based on the passage, what is introduced as an effective way to maintain health?

A.Boxing B.Cross Fit C.Yoga D.Cardio E.Weight Lifting
532. Based on the passage, experts say that it is ideal to run at least how many times a week?

A.Once B.Twice C.Three Times D.Four Times E.Five Times
533. Based on the passage, experts say that it is ideal to run for at least how long each time you work out?

A.Twenty Minutes B.Thirty Minutes C.Forty Minutes D.Fifty Minutes E.Sixty Minutes

534. Based on the passage, what is a benefit of doing cardio exercise?
A.Lose Body Fat B.Strengthens Knee Joints C.Improves Digestion D.Reduces Stress E.Improves Skin

Hdsokkkahook converter DEMO Watermarks### %



117

535. Based on the passage, doing cardio strengthens which muscle?

A.Core B.Leg C.Arm D.Back E.Heart

536. Based on the passage, doing cardio exercise is beneficial for...

A.Dieting B.Studying C.Sleeping D.Focusing E.Resting

537. Based on the passage, who should NOT do cardio exercise?

A.People with Bad Knee B.People with Headache C.People with Heart Disease D.People with High Blood
Pressure E.People with Diabetes

538. Based on the passage, what other exercise is suggested as an alternative for such people mentioned
above?

A Weight Lifting B.Yoga C.Pilates D.Walking Fast E.Rowing

539. Based on the passage, what else is equally important as doing cardio on a regular basis?

A.Well-Balanced Diet B.Low Body Fat C.Low Blood Pressure D.Resting E.Sleeping Well

540. Based on the passage, what is recommended after a cardio session?

A.Taking a Shower B.Taking a Bath C.Drinking Enough Water D.Sleeping E.Stretching

Answer Key

53LD 532B 533.A 534A 535E 536.A 537.A 538D 539A 540.C
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Question 541 - 550. Read the following passage and answer the questions.

o5&l 7HE WE ALE AU,

o =& FH ol Fol Fi 97k vk

12 97 golx 4 5 gt

A%eA e i,

@ oleha g

o c1E50), HFEL A& & A
SIERES-2S ‘1@@ ALk,

- ThA] EaRu

541. Based on the passage, the most difficult season for animals is...

A.Spring B.Summer C.Fall D.Winter

542. Based on the passage, during that time, animals often...

A .Freeze to Death B.Starve to Death C.Kill Each Other D.Can’t Mate [.Catch a Disease

543. Based on the passage, some animals can last through the winter time as they can live without having to...

A Hunt B.Move C.Eat D.Mate E.Sleep

544 . Based on the passage, what do such animals to during the winter time?

A.Save Energy DB.Hunt C.Migrate D.Rest E.Sleep
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545. Based on the passage, such behavior is called...?

AZ BAE C.5%& D.E¥ EALF

546. Based on the passage, such behavior helps them last through the winter time as it...

A Maximizes Metabolism B.Minimizes Energy Use C.Maximizes Fat Storage D.Slows Down The Immune
System [.Slows Down The Digestive System

547. Based on the passage, when do the animals become active again?

A.Spring B.Summer C.Fall D.Winter E.Mid-Winter

548. Based on the passage, the author uses THIS animal as another example...

A.Tiger B.Deer C.Rattle Snake D.Fox E.Frog

549. Based on the passage, the above mentioned animal stays WHERE during the winter time?

A.Warm Region B.Inside Another Animal C.Nest D.Cave E.Underground

550. Based on the passage, scientists say that such behavior is an evidence of...

A Fight or Flight B.Natural Selection C.Creation D.Evolution E.Revolution

Answer Key

541.D 542B 543.C 544E 545E 546.B 547.A 548E 549.E 550D
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Question 551 - 560. Read the following passage and answer the questions.

o BeH AL L ol Hi RS
o717 2 FAE Fo] Az
1788 Al AEE 9 5
S

el = =
e o] 3 EAIE WA &t7] flsiAE ddH| A g Hel g AZF o]
2 %

551. Based on the passage, doing THIS too much is not good for eye health.

A Reading B.Watching TV C.Exercising D.Sleeping E.Singing

552. Based on the passage, doing such can cause your eyes to become...

A.Dry B.Wet C.Stiff D.Malfunctioning [X.Blurry

553. Based on the passage, such condition could lead to...

A.Loss of Hearing B.Stiff Eye Muscles C.Damaged Pupils D.Seeing Things E.Loss of Vision

504. Based on the passage, to prevent the problem, you should refrain from watching TV for more than THIS
long at a time.

A.AnHour B.Two Hours C.Two Hours and Thirty Minutes D.Four Hours E.Six Hours
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555. Based on the passage, giving THIS to your eyes is also important...

A.Time B.Pressure C.Light D.Rest E.Moisture

556. Based on the passage, lost vision can be easily restored with proper care.

A.True B.False

557. Based on the passage, how often do you have to take care of your eyes?

A.Frequently B.Once a Week C.Once a Year D.Consistently E.Sporadically

558. Based on the passage, doing THIS is also important for eye health.

A .Eating Food Beneficial for Eye Health B.Sleeping More Than Six Hours a Day C.Taking a Walk at least
Twice a Day D.Working Out Regularly E.Keeping Good Hygiene

559. Based on the passage, what are some of the good foods for eye health?

A.Ham Burger B.Rice C.Strawberry D.Blueberry E.Mushroom

560. Based on the passage, the author does NOT suggest wearing glasses in case of deteriorating vision.

A.True DB.False

Answer Key

551.B  552A 553E 554.A 555D 556.B 557D 558A 559D 560B
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Question 561 - 570. Read the following passage and answer the questions.

oA Wt xS AFYo] g7 ET.
oS3\t WX 7L B4 @ el U s oF St
o ul7} Ho] 971} o] ol o el =27} minHn,
.—r—ﬂ?(]-ﬂ' %2 O]_‘~ Aol 74A g 314 ¢l v o]},

e SlEI ol el Al A FoLAE 24 A o1 EAAE
A& ARE ARE s ok
eoleld A WEel B AEA AL AFFY AFAHE

A, o] A3 A gols 5 AAF & Aol
Lpobrt, 4712 &0l AFAL BhES A

561. Based on the passage, high level of THIS is needed when driving.

A.Focus B.Understanding C.Analysis D.Humor E.Patience

562. Based on the passage, during THIS day the drivers have to be extra careful...

A.Bad Weather B.Holiday C.Weekend D.Hot Day E.Cold Day

563. Based on the passage, the reason it would be difficult to drive during a bad weather day is because the
road is...
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A.Congested B.Slippery C.Hot D.Uneven E.Damaged

564. Based on the passage, the author suggests which is the most effective way to avoid accidents?

A New Technology B.Drivers Being More Careful C.Not Driving D.Renting a Car E.Car Pooling

565. Based on the passage, how many people on average die of car accidents?

A.Thirty B.Fifty C.Sixty D.Eighty E.One Hundred

566. Based on the passage, who are the biggest cause of accidents?

A.Teenagers B.Elderly People C.Unlicensed Drivers D.Female Drivers E.Male Drivers

567. Based on the passage, for the reason mentioned above, some countries are trying to restrict issuing license
to the drivers over the age of...

A Fifty B.Sixty C.Seventy D.Eighty E.Ninety

568. Based on the passage, for the reason mentioned above, many auto makers are making...

A.Self-Driving Vehicle B.Premium Vehicle C.Premium Vehicle D.Hydrogen Vehcile E.Robotic Vehicle

569. Based on the passage, WHO would be free from having to drive in the future?

A.Drunk Drivers B.Female Drivers C.Elderly People D.Everyone E.Teenagers

570. Based on the passage, WHAT would be a great help in protecting the environment?

A.Electric Vehicle B.Bicycle C.Smaller Vechile D.Hydrogen Vehicle E.Motorcycle

Answer Key

561.A 562A 563B 564B 565.E 566.B 567D 568.A 569D 570.A
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Question 571 - 580. Read the following passage and answer the questions.

o 22 ARAFO] FA B $4% o2 wolrh
o 49 b £ e G
o B Wt ok FYE 1Y T2 B Ak,
o SlTelEo] g Folah TEAA #2405t uY Lol 9)
o MRS Ak, G WA, B3] 52 B 22 5 Qe 29
o 2 &7kt ket e Ag el Ut

7
A ZBtAI 718 71 ek oF g
o &2 oA FAELE 7= AAHD 227t =3
o 2o v E M= ol = 2R A7 Dot
o S =71+ d2cl5 9 HlEo] Wol Eol5a V] WEeld

571. Based on the passage, the food that the Korean people enjoy are called...

A.Bap B.Hansik C.Achim D.Bibimbap E.Achim

572. Based on the passage, how long has its history been?

A.Ten Thousand Years B.Thousands of Years C.Thousand Years D.Five Hundred Years E.Hundred Years

573. Based on the passage, the most important aspect of Hansik is the balance between?

A.Yin and Yang B.Old and New C.Tradition and Trend D.Price and Quality E.Taste and Nutrition
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574. Based on the passage, THIS Hansik dish is most enjoyed by foreigners.

A.Galbi B.Kimbap C.Japchae D.Bulgogi E.Bibimbap

575. Based on the passage, which of the following is not an ingredient of Bibimbap?

A Mushroom B.Egg C.Bulgogi D.Fish Cake E.Vegetables

576. Based on the passage, Hansik is enjoyed using...?

A.Chopsticks Only B.Spoon and Chopsticks C.Hand D.Fork and Chopsticks E.Fork and Spoon

577. Based on the passage, when dining with older people, younger people must...

A.Not Talk B.Wait Until The Older People Start Eating C.Eat With Both Hands D.Must Eat Less Than The
Older People E.Not Make Eye Contact With The Older People

578. Based on the passage, Hansik is now enjoyed by...?

A.Teenagers B.Americans and Asians C.Asians Only D.Koreans Only E.People Around The World

579. Based on the passage, what is needed for the future of Hansik?

A.Trendy Recipes  B.Traditional Recipes C.Better Service D.Healthier Dishes E.Spicier Dishes

580. Based on the passage, the concern for Hansik today is that the number of people enjoying it is decreasing
among...?

A.Koreans B.Young People C.Old People D.Females E.Males

Answer Key

571.B 572B 573.E 574E 575D 576.B 577.B 578E 579.A 580B
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Question 581 - 590. Read the following passage and answer the questions
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581. Based on the passage, how old is Seoul?
A.Over 100 Years B.Over 200 Years C.Over 300 Years D.Over 400 Years E.Over 500 Years

H82. Based on the passage, Seoul used to be called THIS during the Joseon Dynasty.

A.Saul B.Sung C.Gwanghwamun D.Hyehwa E.Hanyang

5>83. Based on the passage, how many royal palaces are there in Seoul?

A.Four B.Five C.Six D.Seven E.Ten

H84. Based on the passage, the royal palaces are crowed with
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A.Soldiers B.Teenagers C.Students D.Tourists E.Historians

585. Based on the passage, Seoul has a population close to...

A.One Million B.Five Million C.Ten Million D.One Billion E.Five Billion

586. Based on the passage, Seoul has more people than Tokyo but less than New York.

A.True B.False

587. Based on the passage, the number of foreigners continue to...

AlIncrease B.Decrease C.Stay The Same D.Stay ata Consistent Level E.Fluctuate

588. Based on the passage, there are many of THESE representing diverse cultures.

A.Schools B.Churches C.Restaurants D.Museums E.Theaters

589. Based on the passage, Seoul has THESE coexist in harmony.

A.Past and Future B.Men and Women C.North and South D.Tradition and Modernity E.Yin and Yang

590. Based on the passage, one downside of Seoul is...

A.Crime Rate B.Traffic Congestion C.Car Accidents D.Slow Internet E.High Living Cost

Answer Key

581.E 582E 583B 584D 585C 586.B 587.A 588C 589D 590.B
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Question 591 - 600. Read the following passage and answer the questions
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5>91. Based on the passage, the most effective way to learn a language is

A.Looking B.Listening C.Singing D.Writing E.Imitating

592. Based on the passage, a good example is...?

A.Teenagers B.Twins C.Teachers D.Old People E.Babies

593. Based on the passage, who makes such a claim?

A.Teachers B.Students C.Nurses D.Scientists E.Linguists
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594. Based on the passage, whom do babies imitate?

A.Parents B.Teachers C.Nurses D.Doctors E.Friends

595. Based on the passage, through such practices, babies learn how to...

A Balance Their Bodies B.Walk C.Communicate D.Calculate E.Sing

596. Based on the passage, what else do babies learn to use as a way of communication?

A.Facial Expressions B.Fashion C.Music D.Color E.Sound

597. Based on the passage, it is important to teach them THIS when they are young.

A.Correct Pronunciation B.Gesture C.Facial expression D.Eye Contact E.Listening Skills

598. Based on the passage, which animal learns to communicate through imitating their mom?

A.Bunnies B.Iguanas C.Puppies D.Ducklings E.Kittens

599. Based on the passage, how many languages are there in the world?

A.About Over 3,000 B.About Over 4,500 C.About Over 5,200 D.About Over 6,900 E.Exactly 6,900

600. Based on the passage, which is the most spoken language in the world?

A.Spanish B.Portuguese C.Chinese D.English E.Russian

Answer Key

591.E 592E 593E 594A 595.C 596.A 597.A 598C 599D 600.C
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